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General Instructions: =
1. All questions are compulsory.
2, The guestion paper consists of 31 questions divided into four sechons A, B, C and
D). Section-A comprises of 4 questions of 1 mark each; Section-B comprises of &
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Seclion-1? comprises of 11 questions of 4 marks each.
3, There is no overall choice in this question paper.
4. Use of calemlator is not permitted.
TEVE-3 f SECTION-&
T A 1 Ha F T W1 HE E
Cuestioh numbers 1 tr 4 carry one mark cach
1 ADEW, F AB[FW &1 3fz AD=4cm, DE=12 cm. T DW = 24cm B, MBD &1 77 #@ Fi=e 1
in ADEW, ABJEW. If AT} =4 cm, DE=12 cm and DW =24 cm, then find the value of DB.
2 sinfl.cos(90° — #) + cost.sin(90° — 0) T T FE =1 1
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Find the value of sinf.cos(90° — 6) +a:sﬂm'-.:ﬁu‘—'a}.

sint . tan® . (1+cotd)

B ] HIA 7 i |
sin® + cosk

afE 3 sinB=cos0 & T

sinf tan8 . (1 +cotf])

1f /3 sinll=cosh, find the value of ,
sinf + cosf

4 foeht 27§, T S TTESE w1000 AR 1250 76 Fﬂwﬁfﬁﬁyﬁ$ Ty F FEm 1

A B, TH T2A 1 = I it |
Fur a certain ﬂﬁmmﬁmmmdmﬁnnwmfnmdmhlﬂﬂmdlﬂ'@g%&_
Find mean for this distribution, using an empirical relation. popde, Spens « 2 e ‘"
3 rrade e Tapkip o Treche .
@=u=-9 [ SECTION-B
T HaAT 5 W 10 H WoOE @ 2 A B o - ‘
Question numbers 5 to 10 carry twio marks sach. s —_—

5 12755 3t 0130130013000, FEET I i § = 5 2
What is Bw difference in the classification -nf nbers _"'"g.'_:::-_____ sed by 20 TS and !
0130130013000, Bxcplain ,
2 .
6 2 T T e T § A i g 7 m A e mEETE] & =0 3 T w2
Tl g7 :
L& lﬁ a rational Tumber or an ]Hﬂ.&[ﬂ]ﬁl =".; .. : I ¢ P-"“‘E' |
factorisation of its denominator 7 b . 1
2

7 Fyor s e I =) wioees i gry wm i s
z—Ty+42=0

i——6=0 o .
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State which of the two triangles given in the figure are similar. Also state the similarity

cTiterion wsed.

9 Tafhay gdufas =1 fag wian -

=3 3
i 0 +cos H ,
W = 1—sinf ¢ cosl
Prowve the following identity :
3
i+
i = 1—sinf - cosd

sinfi+coosh

10 1 e = W il |

-

T

30 — 35

35— 40
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AT ['11 & I IR 9

For the [ollowing data, find mode ;
Class  [25—30 |30 — 35 [ 35— 40 | 40 — 45 | 45— 50
2 /
Fr&?lum:}r 12 & 14 8 9
[ L

EHUE-T [ SECTION-C
¥ Al 114 20 9 wEE w3 35 6
CQuestron numbers 11 to 20 carry three marks each,

1 B Fif i 4-3 o= smiida s=m 8 1"{1\!\ 3
Prove that 4—/3 is an irrational number. = ‘Z‘/j’

2 1 W - Sy=11 Te0 ¥1 § 3 W § v 5 e i fufae ot 5 wen w3
AT T A Y
{H wE=EE —
(iiy  FEETE
(iii) THERE

Given a linear equation 3x— 3y = 11 form another linear quatio
the geometricrepresentation of the pair so formed is ; -

{1} intersecting fines
(i)  coincident lines
(i) ~ parallel lines
1B w9 WA w9 23, 9 f -3 x4 3 T P T
wfiE T - .

Check whether polynomial x—3, is a factor of the mhmﬂm'—#@ﬁiw by division
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algorithm.

- Sx+5y=12 ‘
I -
Solve the following patr of equations graphieally
3z 5y=12 f

Jx—5y +18=0

15  AABCH THAC T - X &1 Xv||as & A g =ifm e y ARSI Hgd 3
In AABC, X is middle point of AC. Hmnu,mmmvmmp%faa

.
16 T maﬁw iR
DB, M =1 FRghaiam so0 & "

D 3

ln given figure, ABCD is a paralielogram E and |
respectively. .
D {

A

i

Prove that DB bisects LM,
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17 ﬁmn=%ﬂ,ﬁmmﬁq;

2t ool

45in® - 9cosh

If smf = %,ﬂmﬁndthewﬂmuf:

Z2sinf — Jcos 0
4l — Ycosh

18 o it T :

sin@ - 2sin 8
2cos 8 - cos B

= Lan @ |

Prowe that -

sin # — 25in” B .
=tan
1{'033 B - o0s @

e L0
19 Frefeten e W o S AT 25 81 p S e i 3

a1 SR | 0-10 | 10-20 | 2030 | 30—40 | 40

qERT | 5 18 15 P

The arithmetic mean of the following frequency d e the value of p.

Class interval | 0—10 | 10—20 | 20~30 | 30—40 | 40=50 | | 4

e fr—

Frequency | 5 B |15 P

20 U S H, 2R & A B T e i e 3
A (o &) 5 | 1550 s |
T = B 5 20 A .
WTEE A 78 Siad

In a hospital, age record ddhheﬁcwﬁenmmmﬂm%; ,l
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[Age(inyears) — — J015 [1o00 |88 [4560 [60.75 |
|Numhcr of paticnts 5 | 20 I 0 ED 25
Find median age.

WU [ SECTION-D
T AE W0 TE § s s
Chuestion mumbers 21 40 31 carrv four marks each

i T arays 909 T wyE R ww o o B i O deedl | HCE 3| LOM I 4

18 A 378 7 oA T ET I |

State Fundamental theorem of arithenetic,

Is it possible for the HCF and L.CM of two numbers to be 18 and 378 respechvely. Justify vour
dIiEwWiT.

5 A UGT U WES i AAg gEh mnd R AT W A Ui S H S o e ol g H 23w 4
S B S =S adue S S SRy

5 years ago, age of one sister was twice the other sister. 5 years hence their ages will be in the ratic 2.
3. Find their present ages.

HETS ot + 23— 113 - G + 18 % 3 44F 1793 81 T W9 I S w1

If T and 3 are two zeroes of a2 polynomial 2%+ 27— 1155 — 9 =18 then find zeroes of the

polynomial. }L
TRE TEE T W O WS TS % I F ve 6 6 we e s oRE w8 sl 2% 4
gy & welln Tem = g E fad o % % oFER 1 WWER S8 H Sl = TER
12 Ui il A — 2o+ 2 7w | fefige atese 3 99 Ol A i 1 0% M S w0
frofer faran 1 7 ol =0 <fwn 5@ wife, R Sema) I 5 R ﬂ-‘ﬂﬂ‘fﬂgﬂﬁﬂﬁm
%2 -.‘;\

Government of India allotied relief fund to help the people of the families of flood Gfected

B



village. MMEMhrﬂ —3a2+x+2 The fund is equally divided between sach
of the families of that village. Each family receives an amount of r—2 while after distribution,
— 25 +4 amount is left. The district magistrate decided to use this amount to cpen a school in
that village. TFind the number of familics who received relief fund from government What »
values have been depicted here 7

35 AABC TE WO Gemw k Fed cB=or i ABSR B ¥ nsm-PE e P e ) TBE 4
wifa i+
i) 4PCE=4BC2+ AR
i) 4AQ=1AB+BCE
(i) 4PC2+4 AQP=5ACT

AABC is right triangle with #B=90". P and  are respectively mid-points of AB and BC.
Prove that :

(i  APCI=aBCZ+AB?
i) 4AQ =4 ABS+BC2

(i} 4PCI+4AQE=5ACE

In AABC, if #ADE = B, then prove that AADE ~ AABC,

Aimiﬁmm?ﬁmﬁE:?jmﬂﬁﬂﬂﬂnaﬂiﬂ:- sen fir
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27

28

29

30

T ot T ten (A 4 B it Bt R, o B % AT TH U

1 — tamA tanB
tan 75" ¥ tan 50° 3 OF FF HiTA9 1
Ghen et A o moee RO R e s TR e
1 — tmA fanl

tan 20" by taking suitable values of & and B.

fog wifem 7 - 4

e g b} |
cc-sech~5|1m=5ec'ﬁ.-—un‘ﬂ 1
cosech + sind sccz,&. +l_.a:n.2,5., " -
Frove that :

cosechA —SinA  sectA —tan A
cosecA + 5iMA sectA + tancA

A sind + cose = m M secd 4+ Vcosechd = ke fam witar fE o4

nfm® — 1} = Zm Tl

1 sinlt + cosfh = mand sech + cosech = n, then mﬂ'ﬂ'n:n’g - 1]- = 2mi.

foftiEn wiesT O hesdl & 50 SR 1 3w ame el 81 2 IR F sy w4
e | AT weH | T =ie |
| ¥ s l
H 100—120 | 120—140 | 140—160 | 160—180 | 180—200
l{ﬁr‘} |
| I

Page 9 of 10



| S @1 5= | 12 14 8 “[5 10
I
The following table gives the daily income of 50 workers of a E:u.turv Draw both types (“less 4
than type” and * greater than type™) opives
[ Daily income () [ 100~ TE,EI|1.E{II 140 | 140— mu|15{r 1F=J|15h 21JEI|
| “we]
| Number of workers | 12 12 8 6 [ 10 j
1
31 Wvﬁ?ﬂﬁwﬁaﬁaﬁﬂﬁmmmﬂmmw#ﬁﬁmn%; 4
[ == (58 %) 58 |am |’1 14 11497 1720 |08 l
| L _—
| =T % s 40 a0 je,-: |53 55 |10 W
| | T T

T HHT % Ao 4] 4TEE T

The given frequency distribution re

bus during a particular day -

presents the number of passengers who boarded a local

| Time {in hours)

s
N

Iem |11 14 |14-1?
| 1

17-20 | 20.23
g s

xlmmrnfpmengm la0 |=.m {44 Jsa'

53 10

Find the mode and n'u';'r.f.:ﬂ.u of the ’ﬂ.uwe data.
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